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) 6.0~8.5 | 0.2~1.0 5 250 250 10.0 500 2 0.1 0.1 0.01 0.2 300 6 100
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- 0.018 <3 2.26 0.44 0.023 10.0 0.09 | 0.0010 | 0.0098 | 0.0023 | 0.020 0.36 <1 <1
(MDL)
1 ] 7.6 0.83 <3 14.9 20.8 1.92 128 0.15 ND <0.02 | <0.005 | 0.093 49.8 <1 <1
it F W
2 (7 450) 7.5 0.72 <3 17.2 22.8 2.15 138 0.15 ND <0.02 | <0.005 | 0.079 49.8 <1 2
2 Heg
3 ESRON N 7.7 0.67 <3 17.3 22.2 2.10 129 0.40 ND <0.02 | <0.005 | 0.076 51.7 <1 <1
4 < 7.4 0.51 <3 13.7 123 1.53 258 ND ND ND 0.005 ND 53.7 <1 2
5
5 - 7.8 0.63 <3 12.9 128 1.38 297 0.10 ND <0.02 | <0.005 ND 50.7 <1 <1
T hud
6 ¥k 6.6 0.51 <3 10.1 41.3 5.66 176 0.20 ND 0.02 | <0.005 ND 36.8 <1 1
7 BB 6.5 0.56 <3 9.6 46.4 5.62 182 0.10 ND <0.02 | <0.005 ND 35.8 <1 <1
8 £ 6.4 0.70 <3 9.9 31.4 453 172 0.10 ND <0.02 | <0.005 | <0.050 | 36.8 <1 <1
9 & f 5 6.5 0.49 <3 11.2 44.0 5.35 188 0.10 ND <0.02 | <0.005 ND 35.8 <1 <1
10 &= k| 77 0.60 <3 15.7 22.8 2.10 125 0.15 ND <0.02 | <0.005 | 0.083 49.8 <1 <1
11 | 5% .4 6.5 0.55 <3 2.6 45.3 4,67 170 0.20 ND <0.02 | <0.005 ND 21.9 <1 <1
12 b 7.4 0.40 <3 11.3 31.6 6.78 193 ND ND <0.02 ND ND 40.3 <1 <1
13 | F5g0 7.1 0.36 <3 11.1 318 6.84 188 0.10 ND ND ND ND 39.8 <1 <1
14 2 ER 6.9 <3 ND 3.8 0.85 22.0 ND ND ND ND ND 2.0 <1 <1
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) ) 6.0~8.5 | 0.2~1.0 5 250 250 10.0 500 2 0.1 0.1 0.01 0.2 300 6 100
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- 0.018 <3 2.26 044 | 0023 | 100 0.09 | 0.0010 | 0.0098 | 0.0023 | 0.020 | 0.36 <1 <1
(MDL)
o [

1 7.6 0.51 <3 185 21.6 211 123 0.15 ND <0.02 | <0.005 | 0.079 | 498 <1 <1
1-8%.

2 F® 7.7 0.52 <3 16.6 22.4 2.08 142 0.15 ND <0.02 | <0.005 | 0.070 | 507 <1 1
43-1%2
N

3 N 7.8 0.53 <3 17.0 22.7 211 141 0.20 ND <0.02 | <0.005 | 0.066 | 50.7 <1 <1
445,
T

4 | = 7.7 0.57 <3 12.1 121 1.35 283 0.30 ND <0.02 | 0.005 ND 52.2 <1 <1
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5 75 0.52 <3 13.2 121 1.45 288 ND ND ND 0.006 ND 52.7 <1 <1
1-12%5
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6 75 0.49 <3 14.2 119 1.37 288 0.10 ND ND 0.006 ND 51.7 <1 1

92z 1%
=~ 5
7 7.7 0.45 <3 145 119 1.41 306 0.15 ND ND | <0.005 | ND 52.7 <1 <1
652_1%.
&5
8 6.6 0.52 <3 11.3 44.4 5.74 186 0.15 ND <0.02 | 0.006 ND 36.8 <1 <1
1625
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9 1251 6.4 0.53 <3 10.3 35.8 4.77 166 0.10 ND <0.02 | <0.005 | ND 35.8 <1 <1

10 i 6.4 0.56 <3 14.0 46.4 5.49 171 0.10 ND ND | <0.005 | ND 35.8 <1 <1
5 i 1015 ) ) ) . . ) . .

11 | %4358 | 65 0.59 <3 11.7 454 5.37 166 0.10 ND <0.02 | <0.005 | ND 34.8 <1 <1

T

12 6.7 0.37 <3 4.3 46.0 4.90 166 ND ND 0.04 | 0.009 ND 22.9 <1 1
100z_ 2%

13 At 7.1 0.48 <3 12.6 119 1.45 288 ND ND <0.02 | <0.005 | ND 50.2 <1 <1
702 2%

. BV iR —
14 Iﬁifl ;f‘ 6.4 0.54 <3 10.6 30.8 451 140 0.15 ND 0.03 | <0.005 | ND 38.8 <1 <1
F A )19

15 | # w85% 6.9 0.48 <3 ND 420 4.65 164 0.15 ND ND | <0.005 | ND 22.9 3 1

16 | % &6 7.0 0.28 <3 11.9 32.3 6.55 204 0.10 ND ND | <0.005 | ND 28.9 <1 <1

17 | #5285 | 69 0.30 <3 14.4 32.2 6.87 195 0.10 ND ND ND ND 39.8 <1 <1

18 | =gE58% 6.9 0.26 <3 11.4 32.2 6.84 186 ND ND ND ND ND 50.7 <1 <1
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